a(d cot(B))

(SN
<

o O gl bbb
C b5 r : 4 :
C o [ T :
- 4=---- T4 1] 5 SURRRIRAREREEEELE
0.95 '71 L : > 3 0.95 -,1 : 2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQM_TT__originalCustomized
—— DQM_TT__nocutCustomized
=~ 1= —
IS : £ T U S R T
S e
2 ;N Fr---- L R R i
o S
g S
° 10k 107
1072
olo% : o vk
I r I : I r
o [ : : o [ r
1_— ----- pas -440e -0-0-4)"’----5 ------------ 1_— ----- s ..:k,__. cadls -0-050-1::»—0—0-0—--5 ------------
0.950'_1 L 5 (:)2 5 0.950'_1 5 (:)2 5
1 1 TPlpT (PCA t%) beamlin(:—:-LP 1 1 TPlpT (PCA t%) beamlinép

; I : 2 3
1 TPlpg)T (PCA t%)obeamlin%)o




	Contents
	Page 1


